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A directly below the Tamp of 500¢cp and at B directly below the lamp if 400 cp. Also
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PART - A
Discuss the construction and working of any type of: 1?1 }fié&tion furnace. (08 Marks)
What are the difference'between Arc welding and resistance welding? (04 Marks)

e

A piece of p12yw00d1§ to be heated by dielectricsheating. The area of cross section of the
piece is 0.5m and the'thickness is 2.5cm. If the frequency of 25MHz is used and the power
observed is 1000 ‘walts. Find the voltage_employed necessary for heating. The relative
permittivity of wood is 2.5 and power factor is 0.046. (08 Marks)

State and explain F araday’s laws;,/o,,,;:;:électrolysis. (06 Marks)
What factors govern the rate of electro — deposition process? : (06 Marks)
A rectangular plate 20 x 10cm?is to be coated with nickel with a layer'of0.2mm thickness.
Determine the quality of éleetricity in ampere hour and time taken for'the process. Current
density is 190 amp/m?® and fcilrrent efficiency is 90% and specific grayity of nickel is 8.9,

(08 Marks)
Define and explain the following termsm connection with illumination :
i) Illumination = W, '
i1) Solid angle % 5
iii) Coefficient of utilization "
iv) Space Height Ratio [SHR], : (08 Marks)
State-and explain the lows of Hlumination. N (06 Marks)

A section if a road is to be illuminated by. t\yola‘mps 0f 500 cp and 400 cp both horizontally

m apart and aré suspended 6m abovVe. 'the surface level. Calculate illumination at
calculate illumination at C in the middle of points A and B. (06 Marks)

#
4

ol >
What are the different types.of lighting schemes? Explain any one in detail. (06 Marks)
Explain with the help of a‘circuit diagram the working of a fluorescent lamp. (06 Marks) -
It is desired to illustrate ég/idi;awing, that with an average illumination of 200 lux. The hall is
30 x 20m>. The lamps are to be fitted 4m from ground floor. Find the number of lamps and
wattage|lamp for “the lighting scheme. Given efficiency of the lamps available as
25 lumens/watt, depreciation factor 0.8 and coefficient of utilization 0.75, space height ratio
between 0.8 toﬁl"‘.“wZ; Give satisfactory spacing arrangement. (08 Marks)
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Define the following referred to traction system ’
i) Crest speed ii) Average speed 111) Schedt g;»speed

(06 Marks)

obtained by the formula :

v.-I_
K
(10 Marks)
whereK = —+—

What are the adva gbs of electric traction o%x the other forms of traction with reference to
suburban trafﬁc% ; (04 Marks)

(10 Marks)

1) leferent typesf»tfactlon system in- (10 Marks)

With a neat d1agram, explain the conq;f ction of workmg ofa single phase AC series motor.
P (10 Marks)

Bneﬂy éxplain different.s; ;§¥@ms of railway elegtnﬁcatlon (10 Marks)
Y 1th a block diagram, explain the functlor},s’ of“@fﬁbsystems in an electric vehicle. (10 Marks)

A




